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BNS-040 : BASICS OF FIRST AID

Time : 3 Hours  Maximum Marks : 70

Note :– Attempt all questions. Answer all parts of a

question at one place. Follow the word limit

as given below : 10 marks = 350-400 words,

5 marks = 150-200 words.

1. (a) Define Frost Bite.

(b) Explain how will you recognize Frost Bite.

(c) Describe the First Aid in Frost Bite.

(d) Enlist ‘Do's’ and ‘Dont's’ (three each) in Frost

Bite. 2+2+6+5=15

2. (a) Define Crush Injury.

(b) List the causes and recognition of Crush

Injuries.

(c) Discuss the First Aid in Crush Injury.

2+2+3+8=15

3. (a) Enlist six types of stretchers and their uses.

(b) Explain the process of carrying a stretcher.

8+2=10

4. Discuss the following issues related to First

Aid : 5+5=10

(a) Legal Issues.

(b) Emotional Issues.

5. Write short notes on any four of the following :

(a) Muscular system of Human Body

(b) Universal Precautions

(c) Head to toe examination

(d) Ear Bleeding

(e) First aid in dislocation

(f) Skin Allergy 4×5=20
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(lh-,Q-,-vkbZ-Mh-)

l=kar ijh{kk

twu] 2024

ch-,u-,l--040: izkFkfed fpfdRlk ds ewyk/kkj

le; : 3 ?k.Vs vf/kdre vad : 70

uksV % lHkh iz'uksa ds ds mÙkj nhft,A iz'uksa ds lHkh Hkkxksa ds mÙkj

,d gh txg nhft,A mÙkj dh 'kCn lhek % 5 vad %

150-200 'kCn] vkSj 10 vad % 350-400 'kCnA

1. (d) ÝkWLV ckbV (fgenkg) dks ifjHkkf"kr dhft,A

([k) ÝkWLV ckbV dh igpku djus dh O;k[;k dhft,A

(x) ÝkWLV ckbV esa izkFkfed fpfdRlk (First Aid) dk

o.kZu dhft,A

(?k) ÝkWLV ckbV esa fdUgha rhu ^D;k djsa* vkSj rhu ^D;k u

djsa* dh lwph cukb,A 2+2+6+5=15

2. (d) Ø'k pksV dks ifjHkkf"kr dhft,A

([k) Ø'k pksV ds dkj.kksa vkSj mldh igpku djus ds

y{k.kksa dh lwph cukb,A

(x) Ø'k pksV esa nh tkus okyh izkFkfed fpfdRlk (First

Aid) ij ppkZ dhft,A 2+2+3+8=15

3. (d) fdUgha N% izdkj ds LVªspj dh lwph cukdj muds

mi;ksxksa ds ckjs esa fyf[k,A

([k) LVªspj dks mBkus dh izfØ;k dk o.kZu dhft,A

8+2=10

4. izkFkfed fpfdRlk esa fuEu fopkj ;ksX; eqíks a ij ppkZ

dhft, % 5+5=10

(d) dkuwuh eqís

([k) HkkoukRed eqís

5. fuEufyf[kr esa ls fdUgha pkj ij laf{kIr fVIif.k;k¡ fyf[k, %

(d) 'kjhj dh ekal is'kh iz.kkyh

([k) lkoZ HkkSfed@ekud lko/kkfu;k¡

(x) foLr`r gsM (flj) ls Vks (ikao) rd ijh{kk

(?k) dku ls jDrlzko

(³) foLFkkiu esa izkFkfed fpfdRlk

(p) Ropk dh ,ythZ 4×5=20
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